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571502

BBA Ist Semester (N.S.) 2014-17

Timie : 3 hours

Examination-November, 2014
Business Mai hematics
Paper-BB: - N-102

Max. Marks : 80

Before answering the questions, candidates
shoulld ensure that they have been supplied
the correct and complete question paper. No
complaint in this regard will be entertained
after the examination.

Hete : Attempt five questions in all. Question

No. 1 (Section A) is compulsory. From
Section B, attempt four questions (ome
question from each unit). All quesetions
carry equal marks,

SECTION A

Using suitable examples, explain the
following:

(a) Tabular method of presenting a set

§7502-4650-(P-4){Q-G)(14) (1) {Turmn Over
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‘Lbj"?roper. subset

_Je) Index

{dy”Arithmetic pi‘dgn:ssion-
(e} Factorial

() Binomial expression

gy Identity matrix

/u:rr ‘Transpose of a matrix

BECTION B

Unit 1

2. In a survey of 100 families, number of fan:ﬁlies

who read three magazines, A, B and C were
found to be as follows:

Conly - 18, C but not B - 23, C and A - 8,
C-26,A-48 and A and B - 8; none of the
three - 24. Using set theory, find the humber

" of families who read magazine

(i) B, (ii) A and B or B and C, {iii) A if they
did not read magazine B and (iv) B and C
but not A.

S7502-4850-(P-4)(Q-9){14) -
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}/@/For any three sets A, B and C prove that
AuBnC=AuBnAuvC

MHA-{L, 2, 3}, B = {2, 3, 4, 5} and
C=1{2 46,8 :

Show that
(AvuB=A-B UB
(i) AnN(B-C)=(AnB)-(BnC

Unit I
4. Prove that
(81)*.3°% — 3% -1 (243) 43" _,
gzﬂ-aii - 3ﬂ+l - 3!’1 -

5. Find the sum of all odd numbers between
2 and 1000 which are
(i} divisible by 3 and

{ii) not divisbile by 3, i.e. find the sum of 5,
7, 11, 13, 17, 19, ......

Unit III

and divisible by 5 can be formed using
the digits 0, 1, 2, 3, 4, 5, 6, 7, 8, 9 if
no digit occurs more than once in each
number?

B7502-4650-{P-4){C-0){14) 3 [Tum Qver

% fa) How many numbers of less than 1000
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Q})fF‘ind the term independent of x in the
. 1Y
ci-:pansionl of (23: + ﬁ)

x—p+x-q='Q'+ P

p x-p x-4q

‘7. Solve

Unit IV

8. (a) Differentiate 2(x + 1) {* + 3x + 1)

w.r.t. x

1
(b) Integrate Jx—l —Jx+1 w.rL.t. X

@ Solve the following set of linear equations
using determinants: '

x'+y+23=—1
x-2y+ z=-95

3x+y+z=3
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